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Generalised conclusion on the basis of a sample 1s technically known as :

TF A94 & AT 97 AOFT W TG B H AT Sl £

Options :
Statistical inference

O3 ery
L MAAHE R

Descriptive statistic
JUATOE ATRST

2. %

Data analysis and interpretation

3 % BET [O9eEor 27T ST

All of the three
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Question Label : Multiple Choice Question

The pmmm] of asking pre- meditated questions in instruments of data LD[]E(‘HD[I is:
HOF TAAE F ITEION T TI-TUEEET 959 TEA H U 2

Options :

Structured

= RUEF

1.¢

Unstructured
5 % A

Free-rein

-3

3. %

Systematic

g, % AT
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
AN FHEE T-AIRA § AT

Options :

H1gh in replicability but low in internal valdity

| gferprd O 3=d aifhd A Juar O &g

H1gh in mterml validity but low in reliability
HAMGF TOA O F=F AR [AeaE=EaT © g

H1gh mem]ﬂmd] validity but lcm in external validity
i Jaar T 3= @fEA 9= Jgar O &g




MNone of the three
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Question Label : Multiple Choice Question

Testing hypothesisis a......... .
Ti{hed=T T & |

Options :

Inferential statistics
ATHANE AT

1. ¢

Descriptive statistics
w TUHATEE HJIRAH]

2.

Data preparation
3 % HOFH FH A=A

Data analysis
j w THE T e
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Question Label : Multiple Choice Question
Inductive logic proceeds from :
ANMOATG S 7% FATAL =061 2 ¢
Options :

General to General

O O

1. %

Particular to General
5 [@Eg F A



General to Particular
5 s AT H s

Particular to Particular
4 % TEET H T
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents i1s known as :

TEIRTETAT B T T U7 ST Oia=ET SR R =3 SAET 2
Options :

Convenience Sampling
EIERIIGERE

1. %

Snowball Sampling

AT Ofa=4
2. %

Cluster Sampling
5 % TUE AR

Stratified Sampling
PR S MER IR

4.
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Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research 7

HAMGH OhE T Aesel F O9G B Deuer hE sie #H ST 29

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all



candidates.

Options :
Descriptive Research
AU F ST

Fundamental Research
o TEE STH

Pure Research
SESTH

Casual Research

4 FEUCOH T
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Likert scaling is based on :

oThe JOMET SJTEnd &

Options :

Item-wiseﬁscule
| Te-F0 IO =4 T

Summative scale
AEOF TOH T7

Retlective scale
Ao o TT

Formative scale

4 % O IO O%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : )
UF 9T TOoEr ORG99 sy #JuEr & o 3uge Eer g, fEEd

=

ATOTT4T =Fangs ®ER 99 &= 5y AET 2o

(a) The means of obtaining information
AT AT B B/ AT

(b) The availability and skills of the researcher
SRl i ITareddl AL HIgT

(c) The nature of the problem to be studied
HLIH Bl A Al TOEAT B Ol

(d) The availability of time and money tfor the research work
=1 e A 2 e R T Ll e e EA = A U

Options :

(a), (byand (d)

| % (a), (b) =77 (d)

{a), (b) and (c)
(@), (b) AT (¢)
2. %

ia), (b, (c) atld (d)

3 (a), (b, (c) AT (d)

(b, (c)and (d)

L% (b), (¢) FATT (d)

Question Number : 10 Question Id : 50939813632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

SHODHGANGOTRI 15 :
SHODHGANGOTRI %

Options :



Database of articles

or J:j. _-El- .-' o "-j 1.:

Database of thesis & dissertation
g AT AT oy U=y W EEEd

Database of research swmpms
R AT Hw EEE

3.¢¥

Database of experts

423%:%:@%??_1%?
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nef true 7
Aei=h =R TR b A U Mg O F FE AT J8 = ¢

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

In this metlmdi each unit has equal l.,h’mc‘e to be selected.

1 =6 TEId O Uddh 30E & =Fdd BH @ 99 FTHT Sl %I

Each sample has equal chance of selection.
ool Oicesl & =99 H TR JUE S B

It is free from personal prejudices and bias
e FTHE GAEenAT AT 9HaE J Ted =60 2 |

3.

This method is very simple to use
TE T TAN FHIA O FEE AT 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
AT ot TEE (slrE) A FE E

Options :

Latin

French

German
3 % A0+

Italian

= =)
FE ) R,

4o
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

=9 A FI-TT SIEFEVT WA F @9 AT U7 @R B al Jmorer I #l
TEAE B H 0 CHUEl % SAEET W ITAN ®Eal £ 7

Options :

Idiographic Approach
SEAMANSS (THITH) S HIT

Nomothetic Approach
AMOTEEE (FFEFTITE) S hY]

Empirical Approach
5 s FIITTIA SEEH



Pragmatic Approach
% BRI EI RS Al

4.
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain
order :

AAAUE UEA % Hed T, Meligd UiiEed =S99l U HieEe B o
o A E

(A) Conceptualising the research design
ATAGN HATIHTT H AT |

(B) Formulating a research problem
E0 k= IS RREEP = ] T

(C) Selecting a sample
Oicesl T =9 |

(D) Constructing an instrument for data collection
S HUE B 00 HAFHAN HES B i

Which of the following options represents the correct order ?
FTiEd O H -9 [@hed Hel 0 & Jid-idae &l © 7

Options :
1. v/ B, .-‘:"L, D, C

, % B.D.AC

; % BCAD

4.23 B,C,D..“ﬁi
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Question Label : Multiple Choice Question



Impact tactor of a journal is defined as :
fFHT FHe & 09 e (Impact factor) T 29 OFRE TGS TRAT AT E

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received
TE Hel ®O U FJE@ O Ued aeE OEEl O OS09E oiEl O OTEE

It is the yearly average number of citations that articles published in the last four
years in a given journal received
qE T ME Ul O oo =7 a9t O OEnie oeai F angs T

It 1s the vearly average number of citations that articles published in the last two
years in a given journal received
7= 5l 0 T S e © fred o a9 O OEieTd oidl B anus S

It is the vearly average number of citations that articles published in the last five
years in a given journal received
Tz &1 ME OEE O gl 9= gul O OEieE ohEl d andE HAEd

4

Question Number : 16 Question Id : 50939813638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The three basic principles of experimental design are :

TR A1 F a9 Oadgd R =

Options :

Replication, randomization and Substitution
TS, TesOE=s™ Ug T@2iod9-

1. ®

Replication, randomization, and local control
. YERA, Y UIEHe U S Bl




Substitution, replication and local control

A9, TS UF T Frg el

3. %

Substitution, randomization and local control

L% AFEIgs™, EOE=9E Ud dHd Frgld
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Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
S H AIEE IU=EEl H O O Egs F fassiuer AT A

e

Options :

Simple t-test

L% 0T -9

Chi square test
o FZ AT T

F-test

_TTE

Paired sample t-test
Jfe S d-i

- et
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Question Label : Multiple Choice Question

Which of the following 1s nof a method of research ?

Options :



Survey
[EEE

Historical
M GIHIEEE S|

Observation

ST
S EIET

Philosophical

I E il
4, ®
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Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?
= O F B AT U & SJET 7

Options :

Pie chart

Bar chart
F R EET

Histogram
AT =3

Box plot
g1 =T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

Az-AEY AqETE B T SEET F AT U7 @ g e A1 S
g7

Options :
Applications of the tindings of the research study.
| x ST ST F MGl B SATART F AT U7

Objectives of the research study.
5 o M FIES F I F ATER 0T

Mode of enquiry used in conducting the study.
3 % AFFE T HEEE O ITERT B OAE AR SE F TS OAEE T

Outcome of the research.
4 % ST T OROTH T STER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards
people in wheelchairs. He/She can study their reactions by sitting in a wheelchair
himselt/herselt. Such method of collecting data is known as :

U SNEEal Ee=ET O AT @R & Oid A SAERl & O EAE #i
AE HeAT ARGl | g8 @A EeEAT O ao®e 39 Oiaieere @
HAFA BT AHAT 2| B UFA FAA F I GT B EA TU G OFET @

Er

Options :
Disguised Observation
=T AT TR
% U= A de kA

Participant Observation

2.¢ PIGE R L 7

Non-Participant Observation

3 s TR S

Self Recording Observation
y w T TEEIET e
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Question Label : Multiple Choice Question

Which of the fnl]nmnn 1s are citation/reference style s] 7
MmET O T R SR sAe @iy (&) =2 7

(A) American Physical Association
AGITFA e TATaIs

(B) Modern Linguistic Association
OEA [TIRgE=E THIETSTH

(C)y Oxtord Standard tor the Citation of Language Association
ATFAFE =USE BT T AECsH ATE ovae TEEuET

(D) Vancouver

GE R
Choose the correct answer from the Lnde'a given below :
M=faiad © 3 ®E-A1 981 §E =

Options :

ia), (by, (c)rand (d)

| % (@ (b)) AT (d)

(a), (b) and {c)
5 % (@) (b) AT (c)

(a) m_]d (d)
3 % @FAT)

(d) only
4 TAT (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
UF-TLHT UAET &l IUERET AT A6 2

Options :



Determine whether there is any statistically significant difference between the means

of single independent group before and after intervention .

TE Fuivg ®2ar & % #7 UF Tmag 9g9E O 5EET F usd A7 J.
| % & TT9T (mean) F T FIE HIFABT TETII HT =

Determine whether there are any statistically significant differences between the
medians of two or more mdependent groups

TE Fuied ®ar & T 0 & 91 AGf9® @as Jg9s § el & g

5 % HE AWART =909 F=7 =

Determine whether there are any statistically significant differences between the
means of two or more independemfunre]med groups

TE Faivd Fear & % &0 &1 a7 afas @mad s dq9aad 9981 & OTed
3 o (mean) % 4 FE AfESE gewTyl s & oA A€

Determine whether there are any statistically signiticant ditferences between the
squared means of WO or more mdependent group
Meiftva ®eam & % o &1 ar Aafaw mas AO=] F A 19T (squared

4 % mean) T A" ®IE AARE OETY ST = AT TRl
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Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Protessor . A. Fisher 7

el e e S TR = 1 1 7 o M 2 -1 e S = s o £ s 1 = gl (N £ -3 £ SO L o
7o Uo fFITT g@rr fiAm o £ 7

(a) Principle of Revision
HeMEIA FI =

iby Principle of Replication
ORI Tl =

(c) Principle of Randomization
"] grﬁ TSRO 1 aEr

(d) Principle of Local Control
A 0 B R

Choose the correct answer from the codes given below :
Hre U T Hs O | HE 39 g

Options :



(a), (b)and (c)
(@), (b) AT (c)
1. %

(a), (b) and (d)

5w @0 AT (d)

by (c)and (d)

4 (byic) T (d)

(a), (c)and (d)

4 % (@), () AT ()
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Question Label : Multiple Choice Question
Read the statements A ’mrl B and choose the correct option :
FT A HT B U% AN HE @EeT =T

Staternent A : Exploratory research studies are also termed as formulative research studies.
FUT A ASTUGREDE 9 ST B ONE ol STora S HET ST R

Statement B : Exploratory research study i1s undertaken with the objective either to explore
an area where little 1s known or to investigate the possibilities of undertaking a particular
research study.

HO B ASUUNOE 9T AOREE H IE9d TRE U =uF O g A
TE® =17 § A5s 9 A=EE I9wed = A7 HE m ded & a1 oo
AT YA B FHAEATET HT TS T 24T 2

Options :
Both the statements are true.
| o SHET FHIT T E |

Both the statements are false.
) % AT FAT FFA E |

Statement A 15 true but B 1s false.
3 % BT A TAA E TET BT £

Statement B 1s true but A is false.
4 % TIT BHAA E kA A T = |
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software 7
M=faiaa O # ®E-4 FJaEs ie-wiaed HiEady =

(a) Urkund
':51;.'1.:;-;_;
by Owerleat

x| R
(c) Turnitin
(d)y Viper

Choose the correct answer from the codes given below :
A= ®U T FE T OH FEN 391 g4
Options :

(a), (b) myj ch

| % ia), (b)) 3T (c)

(a), (byand (d)

5w (@.(b) =17 (d)

(a), (c)and (d)

3 @) 17 (d)

(a) and (c)

4 % @ M7 (c)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-sided depends on :



Options :
alternative hypothesis

3 =TT 1] TioFe
1.« dehlotdch T dnatdl

null and alternate both
I e Ell B A E e |

null hypothesis

- ST IERTTT

either by null or by alternate
4 % AT T S A ORI F
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Question Label : Multiple Choice Question

Which measure of dispersion do not depends on all observations ?

B T B |1 O1T JH] AgErEAl U7 MHT 98 S § 7

Options :
Root mean & square deviation

1wq_5—rrma:r-aq“1'raﬁ1’ﬂﬁ|=r

Mean deviation
5w WA ferga=

Quartile deviation
3 o TOUE HEEEA

Standard deviation
4w TTTE EEERI
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Question Label : Multiple Choice Question



It ris the simple correlation coetticient, the quantity 15 termed as ;
e r JIE ALHGE qOOF T, G O FH A OE T TR AR E

Options :

Coetticient of alienation
[ % TTHIHIOT H oI

Coetticient of variation
[E: o LA Ul 7

2. %

Coefhicient of determination
3 @ @ ZET NN G

Coetficient of non-determination
g s TE-TETOT HT IOE
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A Scattergram is extremely effective :
UF FHog HAoad J9El = o

Options :
to show visually how two vanables are covering
S9EE Bm F oo 56 & =9 &9 o399 =

1. ¢

in organising the scattered footnotes of the research.
5 % SN F feRE Ot w1 i w3 O

in organising the scattered bibliography of the research.
5 s S W AT BT W FE H AT T

in organising the scattered results drawn after the rigorous literature review.
Fol? Hiscd TOET F Je R 0 fewE?d Oemgr 5 #hegd w7 0

4, =

Question Number : 31 Question Id : 50939813653 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations 7
TFd O%T & Mg § Humd B eH Tl O AEErEd 87 hA = 1
a% £ 7

Options :

Casval Comparative Research

FIROEOF So-TmE ST
1. % -

Historical Research

TRl 91
2. %

Descriptive Research

3 o AU STreT

Experimental Research
U S
4, ®

Question Number : 32 Question Id : 50939813654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one is called non-probability sampling ?
M=arad O # ®E TE-UTasdl 99499 ®l Al = 7

Options :

CJuota sampling

1. ¢

Cluster sampling
T uiaEE

Systematic sampling
AT /2T U=

Stratified random sampling
= AR E Tia=TH




Question Number : 33 Question Id : 50939813655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
0 AR ® O § 997 =7 a1 2@ & 949 58390

Options :

The one that is not 1mmpu]ated and in which any changes are observed
‘ﬁ? ‘—[_"_CI_"T/F'?T"'IE_,-' 51 F FAET AT fHED 9 ger aftgde 95 Joie

The one that is tmmpu]’ﬂed in order to observe any eftects on the other
SECCE BRER SR - £ E -t AR A M I e s e A= b =
AT |

A measure of the extent to which personal values atfect research
TFH U AR Ood STy 1 O9Mad Hid = 39% Oi9h & =9 0
TAFT Thar ST =

An ambiguous concept whose meaning depends on how it 1s defined
U A0 AT OE1 A1 TFal = fAas] A9 39 07 [ Hmear 2

L% 5 39 9 ianus e A

Question Number : 34 Question Id : 50939813656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence 1s known as :

qEAT W Ui ®mE F 0 oieius [GemarEl 9wl @en F O J9E &bl
M= O FAE A 2

Options :

Case series
T AR
#®



Cohort

2.4}7@_{

Case control

3.wﬁ>‘ﬂmzrrr

Experimental

Question Number : 35 Question Id : 50939813657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AN HH H O O, SUshedr i 1 SAgEHT EB =

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Statement of objectives
| FEST W FHEA

Collection or data
T F Hhel

Analysis of data
TAT HT FeTEer

Selection of research tools
AT T FHT FAA

4.

Question Number : 36 Question Id : 50939813658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"»’hnh of the fol]nmnn features are considered as critical in quaht’m\e research 7
FF:T fad o T‘[ F -9 [EeaaE NI B ST & I"I” e ;{”I O AT
E 7

Options :

Collecting data with the help of standardized research tools.
_ OERRT ST T80 & & A=AF o 2ATHS] B Fas0]

Design sampling with probability sample technigues.
5 s WG Q== THAH F TN FE ST 9T B e

Collecting data with bottom- up E]ﬂ]}]f‘lLd] evidence.
3 FEAMT AAEE HJEd & TAET HOATRST B FAE

Gathering data with top-down schematic evidence.
o, HH-UR AAEE A H AR H AEHST F AT

Question Number : 37 Question Id : 50939813659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentitied with Covid-19 positive. Calculate
the prevalence of Covid-19 per [000 pnpu]mml

OF STET O 25000 ==eA O, 105 FNde-19 AFHEES & 919 38 (60 0
1 °fd 1000 FEEE 9 EBITS-19 F AR Bl TOEAT T |

Options :

| % 52

) 4.2



Question Number : 38 Question Id : 50939813660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The tollowing multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

=T H ATIT FE AW GO 0 g w IALE

Export Earnings

1 polished 3 gold

I 'Lil-]"ﬂ['l‘l'!d --—I:_. _Ei‘-"‘l"lli:.!.iL_lrl:".
700 - 660
505
’a B —y
g
% 500 | 486
409 4116
g f— -
B i 348
E‘ I -.o—
N el 270 .
3 ]
=
i 2
e o
1990 1991 1092 1993
Year ——»=

What was average eaming from gold jewellery over 1990 to 1994 7
1990 ¥ 1994 TF #U ATGUY H AT O P 47 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

503.4 Million
| 503.4 Tofer=



501.6 Million
, 5016 EIEPE

500 Million
3 500 foferr=

510 Million
n 510 Tofer==

Question Number : 39 Question Id : 50939813661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

Frfafias 95 91T =1 Ofess S ) 99 & e § e STE Fr oS =
=TE H ATHT FE AT GO M0 U W oI9S

Export Earnings
Polished Diamond vs Gold Jewellery
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In which vear the difference of export earning of two types of jewellery is maximum ?
TFe =9 O o AT9Uel o MFE O @ JeT SAfgEay 97 v

Options :



| o 1994

1993
1991

1992

Question Number : 40 Question Id : 50939813662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Directions ; Study the tollowing table and answer the question given :

Production of different types of scooters in a company

@Sy : Frafaiad Ao & ST9EE HY AT e M UsT @ oFeT &

UF FOA1 O &9 96T & Fped B 3R

Figures in '000

Year Type of scooters
A B c D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 48
1994 | 135 | 30 44 935 83
1995 | 190 | 85 69 | 125 | 115
1996 | 260 | 95 120 | 80 | 120
1997 | 240 | 140 | 161 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the vears ?

1995 T A-TET & FHAl & IARA H FJONAd 099 29F o 3cd1eA
I R A v

Options :

20
1. %
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Enable Mark as Answered Mark for Review and Clear
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509398194
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Question Number : 41 Question Id : 50939813663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Hip Joint is an example of :

Options :

| Ball and Socket Joint

Hinge Joint

3 % Ellipsoid Joint

4 % Pivot joint

Question Number : 42 Question Id : 50939813664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Great Saphenous Vein drains into :
Options :

| % External Iliac Vein

, % Internal Iliac Vein

3 Femoral vein

4 % Popliteal Vein

Question Number : 43 Question Id : 50939813665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Thi Chief Extensor of the Hip is :
Options :

L Gluteus Maximus

5 % Gluteus Medius

3 % Gluteus Minimus

4 » DBiceps Femoris

Question Number : 44 Question Id : 50939813666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Tibialis Anterior is supplied by :
Options :

| % Common peroneal nerve

5 % Superficial peroneal nerve



3« Deep peroneal nerve

4 % Tibial nerve

Question Number : 45 Question Id : 50939813667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The muscle which is referred to as 'Peripheral Heart' is :
Options :

| % Gastronemius

) Soleus

3 % Quadriceps Femoris

4 % Gluteus maximus

Question Number : 46 Question Id : 50939813668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which muscle unlocks the knee joint ?
Options :

| % Quadriceps femoris

) % Semimembranosus

3 % Gastronemius

4 Popliteus

Question Number : 47 Question Id : 50939813669 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Foot drop is caused by injury to :
Options :

| % Tibial nerve

» Common peroneal nerve
2.

_ Femoral nerve
3. %

4% Obturator nerve

Question Number : 48 Question Id : 50939813670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are bones of lower limb except :
Options :

|« Femur

, % Tibia

5 % Fibula

4 Humerus

Question Number : 49 Question Id : 50939813671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The type of pelvis that is most suitable for child birth is :
Options :



L% Android

) Gynaecoid

; % Anthropoid

4% Platypelloid

Question Number : 50 Question Id : 50939813672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Intervertebral joints are examples of :
Options :
| » Fibrous joints

) % Primary Cartilaginous Joints
3 Secondary Cartilaginous Joints

4 % oSynovial joints

Question Number : 51 Question Id : 50939813673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The largest solid organ in the body is :

Options :
L Liver
) % Brain

3 % Lung



4 % Spleen

Question Number : 52 Question Id : 50939813674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are muscles of Anterior Abdominal Wall except :
Options :
| w External Oblique

5 % Rectus Abdominis

5w Internal Oblique

4 Psoas Major

Question Number : 53 Question Id : 50939813675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Testicular artery is usually a branch of :
Options :

L& Abdominal aorta

> % Renalartery

3 % Internal iliac artery

4 % Interal pudendal artery

Question Number : 54 Question Id : 50939813676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which muscle forms the pelvic diaphragm ?
Options :

| % Superficial transverse perinei

) Levator Ani

5 % Ischiocavernosus

4 % Deep transverse perinei

Question Number : 55 Question Id : 50939813677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are cardinal features of Large Intestine except :
Options :

L ® Taenia coli

> % Sacculations
3 o Villi

4 % Appendices epiploicae

Question Number : 56 Question Id : 50939813678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The arrangement of structures in the hilum of the kidney from before backwards is :

Options :

L Renal Vein, Renal Artery, Renal Pelvis



, % Renal Artery, Renal Vein, Renal Pelvis

3 % Renal Pelvis, Renal Artery, Renal Vein

4 % Renal Artery, Renal Pelvis, Renal Vein

Question Number : 57 Question Id : 50939813679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The shortest part of the male urethra is :
Options :

| % Prostatic

) Membranous

5 % Bulbar

4 % Penile

Question Number : 58 Question Id : 50939813680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
All are true supports of the uterus except :

Options :

| % Levator Ani

5 % Perineal body

; % Round Ligament

4 Broad ligament



Question Number : 59 Question Id : 50939813681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The Structure related to the neck of the urinary bladder is :

Options :

| % Epididymis

5 % Seminal vesicles

3 Prostate

4 % Tests

Question Number : 60 Question Id : 50939813682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Lurching gait occurs due to paralysis of

Options :

L Gluteus medius & Minimus

» % Gluteus maximus & medius

3 % Gluteus maximus & minimus

4 % GCluteus maximus

Question Number : 61 Question Id : 50939813683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following is a Hamstring muscle ?
Options :

| % Sartorins

) # Gracilis
3 Semimembranosus

4 % Rectus femoris

Question Number : 62 Question Id : 50939813684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Blood pressure in the lower limb is recorded from :
Options :

| % External iliac artery

5 % Femoral artery

3 % Posterior Tibial artery

4 Popliteal artery

Question Number : 63 Question Id : 50939813685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are parts of stomach bed except :
Options :
L Right Kidney

5 % Left Kidney



3 ® Pancreas

4 % Diaphragm

Question Number : 64 Question Id : 50939813686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The most common position of the vermiform appendix is :
Options :

L Retrocolic

, % Promonteric

3w Pelvic

4% Mid-Inguinal

Question Number : 65 Question Id : 50939813687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are sites of portocaval anastomoses except :
Options :

L% Umbilicus

, % Oesohagus

3 ® Anal canal

4 Duodenum

Question Number : 66 Question Id : 50939813688 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Islets of Langerhans are situated in :
Options :

| % Parotid

) % Prostate

3 Pancreas

4% Liver

Question Number : 67 Question Id : 50939813689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Gall bladder is supplied by :

Options :

| % Left hepatic artery

) Cystic artery

3 % Gastroduodenal artery

4 % Superior mesenteric artery

Question Number : 68 Question Id : 50939813690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is an evertor of the foot ?
Options :



|« Peroneus longus

» % Tibilais Posterior
3 % Flexor ha!luces longus

4 % Extensor Digitorum

Question Number : 69 Question Id : 50939813691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The key muscle of the gluteal region is :
Options :

L& Piriformis

» % Quadratus femoris
3 % Obturator externus

4% Superior gemellus

Question Number : 70 Question Id : 50939813692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
All are examples of tarsal bones except :
Options :

| % Calcaneum

. Scaphoid

3 % Talus



4 % Navicular

Question Number : 71 Question Id : 50939813693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A two year old presents with a mid facial and mandibular hypoplasia, cleft palate
deformed external ear and defect inn hearing. Which of the following embryonic
structure is most likely to be developed abnormally ?

Options :

| % First pharyngeal arch

» « Second pharyngeal arch

3 % Third Pharyngeal arch

4 % Fourth pharyngeal arch

Question Number : 72 Question Id : 50939813694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A young girl complains of dryness of the nose and palate. This would indicate a lesion in
which of the following ganglia ?

Options :

% Nodose ganglion

) % Otic ganglion

3 Pterygo-palatine ganglion

4 % Submandibular Ganglion



Question Number : 73 Question Id : 50939813695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A 59 year old man complains of numbness in the anterior cervical triangle which of the
following nerves has been damaged ?

Options :

| % Phrenic nerve

> % Greater auricular nerve

3 Transverse cervical nerve

4 % Supraclavicular nerve

Question Number : 74 Question Id : 50939813696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A 60 year old male is unable to open his eye because of a rare neuromuscular disease. ,
which of the following muscles would most likely to be paralysed ?

Options :

| % Orbicularis oculi

) % Orbicularis oris

3 % Frontalis

4 Levator palbebrae superioris

Question Number : 75 Question Id : 50939813697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
61 year old woman is found to have ocular lymphoma invading her optic canal, which of

the following structures would most likely be damaged ?
Options :

L ® Ophthalmic vein

» % Ophthalmic nerve

3 % Occulomotor Nerve

4 Ophthalmic artery

Question Number : 76 Question Id : 50939813698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

subsequent to tonsillectomy, a 57 year old Man is unable to detect taste in the posterior
part of the tongue .Which of the following nerve is likely to be injured ?

Options :

| ® [nternal laryngeal nerve

, % Lingual nerve

3 Glossopharyngeal Nerve

4 % Greater palatine nerve

Question Number : 77 Question Id : 50939813699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

During malignant parotid tumour surgery in a woman, the main trunk of the facial nerve
is injured, which of the muscle is most likely to be paralysed :

Options :



| % Masseter muscle

% Stylopharyngeus

3 % Anterior belly of the digastric

4 Buccinator muscle

Question Number : 78 Question Id : 50939813700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A 59 year old Man is unable to swallow because of a nerve injury, which of the
following nerve is unaffected ?

Options :

| % Hypoglossal nerve

) % Spinal accessory

3 % Vagus Nerve

v Facial nerve

Question Number : 79 Question Id : 50939813701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A 64 year woman is unable to open her mouth due to tetanus resulting from a old rusty
nail injury. Which of the following muscle is most likely to be paralysed ?

Options :

| % Masseter muscle

) % Medial pterygoid muscle



3 Lateral Pterygoid muscle

4 % Buccinator muscle

Question Number : 80 Question Id : 50939813702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A 26 year old female complains of hoarseness of voice. A laryngoscopes examination
reveals a lesion in the superior laryngeal nerve. Which of the muscle is most likely to be
damaged ?

Options :

L% Inferior Pharyngeal constrictor

» % Middle pharyngeal constrictor

3 % Superior pharyngeal constrictor

4 Thyroarytenoid

Question Number : 81 Question Id : 50939813703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following sulci is limiting the sensory and motor cerebral cortex ?
Options :

| % Sylvian sulcus

) Central sulcus

3 ® Calcarine sulcus



4 % Collateral sulcus

Question Number : 82 Question Id : 50939813704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

which one of the following is NOT filled with cerebrospinal fluid (CSF) ?
Options :

| % Brain ventricle

, % Space between Pia & Archnoid mater

3 % Subarchnoid cisterns

4 Space between Dura & Archnoid mater

Question Number : 83 Question Id : 50939813705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is NOT a part of Basal Nuclei ?
Options :

| % Caudate nucleus

» % Subthalamic nucleus
3 % Globus pallidus

4 Thalamus

Question Number : 84 Question Id : 50939813706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which structure is NOT passing through foramen ovale ?

Options :

L& Maxillary nerve

5 % Accessory meningeal artery

5 w Lesser petrosal nerve

_ Emissary veins
4. % g

Question Number : 85 Question Id : 50939813707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Nerve supply of Biceps brachii muscle :
Options :

| Musculocutaneus nerve

5 % Radial nerve

5 % Median nerve

4 % Axillary nerve

Question Number : 86 Question Id : 50939813708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

intramuscular injection is commonly given on which muscle :
Options :

| % Biceps



5 % Triceps

5 % DBrachialis

,  Deltoid

Question Number : 87 Question Id : 50939813709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

which one of the following is NOT the content of carotid triangle in neck ?
Options :

| % External carotid artery

) External jugular vein

3 ® Internal carotid artery

4 % Internal jugular vein

Question Number : 88 Question Id : 50939813710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is most vein for phlebotomy ?
Options :

| Median cubital vein

5 % Brachial vein

“ Ulnar vein

4 » Axillary vein



Question Number : 89 Question Id : 50939813711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The ear ossicles are present in ?
Options :
| % External ear

) Middle ear

5 w Internal ear

4 % Eustachian tube

Question Number : 90 Question Id : 50939813712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The Eustachian tube connects pharynx to?
Options :

| ® Nose

5> % Oral cavity

3 % Larynx

4.¢Ear

Question Number : 91 Question Id : 50939813713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Sibson's fascia is the covering over ?
Options :

| w Heart

5 % Spleen

(A
3 % Lung

4 Liver

Question Number : 92 Question Id : 50939813714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

the inlet of larynx is separated from laryngopharynx by ?
Options :

| Epiglottis

, % Rima glottides

5 w Glotlis

4 % Waldeyer ring

Question Number : 93 Question Id : 50939813715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which artery can be palpated in anatomical snuff box ?
Options :

L ® Brachial



, % Femoral

3 Radial

4% Carotid

Question Number : 94 Question Id : 50939813716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is NOT present at the level of sternal angle ?
Options :

| % Tracheal bifurcation

, w DBeginning of arch of aorta

3 % End of arch of aorta

100 v \i 8
4 Superior vena ca a ends

Question Number : 95 Question Id : 50939813717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

which of the following leads to Peau D'Orange appearance in breast carcinoma ?
Options :

L ® [nfiltration in coopers ligament

) Blockage of dermal lymphatics

3 % Infiltration in duct

4% All of the three



Question Number : 96 Question Id : 50939813718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

in the diaphragm, at which verterbra level opening for oesophagus present ?

Options :
T6

1. =

, % T8

Question Number : 97 Question Id : 50939813719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mitral valve is present between ?
Options :

| % Rightatrium and left ventricle

» % Rightand left ventricle

3 % Left ventricle and aorta

4 Left atrium and left ventricle

Question Number : 98 Question Id : 50939813720 Question Type : MCQ Option Shuffling : Yes Is
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Question Label : Multiple Choice Question
What sesamoid bone develops in the tendon of flexor carpi ulnaris and is therefore not a

part of the wrist joint ?
Options :

L% Scaphoid

5 % Lunate

3 Pisiform

4 % Capitate

Question Number : 99 Question Id : 50939813721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Question Label : Multiple Choice Question

The signs and symptoms of carpal tunnel syndrome may vary among patients, but they
always result from compression of what structure in the carpal canal ?

Options :

| Median nerve

, % Radial nerve

5 w Ulnar nerve

4 % Radial artery

Question Number : 100 Question Id : 50939813722 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Foramen transversarium is present in the ?

Options :



| w Cervical vertebrae
) % Thoracic vertebrae

3 Lumbar vertebrae

4% Sacral vertebrae



